®aiin: [1/1-125.14003 kar | Cocragnen: 15.04.2015 | Jluer 1 us 2
Jbm Kox HaumeHnoBanue neranu XapakTepucTHKa K-ro,
cxeme IOT./ U311,

1 00.10.02.03.02 [Hyp nuTaHus ¢ BUIKOH HO5RN-F 2x1,0mMm2-2,3m 1
2 26.04.00.02.00 TpyOka 3ammTHas 1
3 00.02.03.01.03 Bunr 4x14 2
4 26.05.00.05.00 [Tnanka ¢ukcanmu mHypa 1
5 00.10.04.01.02 Konpnencatop 0,22mx® MEX GPF 40/85/21 1
6 302.05.00.05.00 Kiapuira BeIkITrouaTess 1
7 372.05.00.01.00 Pyuxa 1
8 00.10.01.01.08 BeIkirouarenns KEDU HY15B 12(10)A 250V~5E4 1
9 372.04.00.01.00 BJ10K 25eKTpOHHBII 1
10 302.04.03.04.00 [pyxuHa ciupanbHas 2
11 00.02.03.01.02 Bunt 4x12 2
12 302.05.00.02.00 Kppika merku neBas 1
13 302.04.03.01.00 [Ilerka anexkTpryueckasl CaMOOTKIIIOYAIOIIAsICS 9x6x16 1
14 00.02.03.01.25 Bunt 3x10 2
15 372.05.00.02.00 Kopmyc nBuraresns 1
16 302.04.03.03.00 [erkonepsxarensb 2
17 302.04.03.02.00 [eTka anexTpudeckas 9x6x16 1
18 302.05.00.03.00 KpblIiika merku npasast 1
19 372.05.00.03.00 Pyuxa Haki1aaka 1
20 00.02.03.01.08 Bunt 4x25 6
21 00.02.03.01.06 Bunt 4x18 2
22 302.04.01.00.00 Cratop B cbope #58,5x55, 220V-240V,1400W 1
23 302.04.02.03.00 Koublio MarauTHOE 1
24 302.04.02.02.00 Brynka pe3uHoBast 1
25 00.01.01.01.25 IMoamMnHUK UTapUKOBBIN 607-2RS (7x19x6) 1
26 00.02.03.01.36 Bunt 4x70 2
27 302.04.02.01.00 SIKOpb ¢ BEHTHIATOPOM ¥35,1x55, 220V-240V,1400W 1
28 302.02.00.01.00 Kppimika guadparmsr 1
29 26.04.00.01.00 Huadparma 1
30 26.03.02.02.00 Konbuo cronopHoe 1
31 26.03.02.06.00 Konsuo 1
32 372.03.00.01.00 [Ipoxnanka 1
33 00.01.01.01.65 IMoAmMNHUK IaPUKOBBIi 608-2RS (8x22x7) 1
34 26.04.02.03.00 [lecTepust koHMUYECKAs Z=11 1
35 00.02.02.01.06 [ait6a npy>xuHHAs @6 1
36 00.02.01.01.06 Taiika M6 1
37 26.03.02.05.00 Kuonka ¢uxcaropa mnuHaesNs 1
38 26.03.02.04.00 [pyxuHa pukcaropa MIMTHHACISA 1
39 26.03.02.03.00 ®dukcaTop MIMTHHACIS 1
40 372.03.00.02.00 Kopmyc penykropa 1
41 00.01.02.01.17 [ToAmMNHUK POITMKOBBIN HKO0808 (8x12x8) 1
42 302.03.00.03.00 Kouteco 3ybuatoe koHHYECKOE Z=38 1
43 00.02.04.05.03 Bunt M4x10 5
44 26.03.00.01.00 Kpbliika moAMUIHIKA 1
45 00.01.01.01.30 IMoAmMnHUK UTAPUKOBBIN 6201RS (12x32x10) 1
46 372.03.00.03.00 Kpeimika pexykropa 1
47 372.02.00.01.00 Bunt ¢ MaxoBuKOM M10x20 1
48 07.02.00.02.01 Pyuka 6oxoBast 1
49 372.02.00.02.00 KpoHIuTeiH peryampoBKa riyOuHs! 1
50 00.02.04.04.35 BunT M5x20 2

NHTEPCK{ON

Karastor 3armacHBIX YacTEH U3 OAEITHUSI

AelcTBUATEAEH C:

15 ATTPEASA 2015r.

ITuiaa aamaszHaas
ABYXJIUCKOBas yrjioBas
(mmrrpobopes)

II-125/14002




@aiin: [1/1-125.14000 xat Cocrasnen- 15.04.2015 Jlucr 2 u3 2
51 372.02.00.03.00 | Perar 1
52 372.02.00.04.00 Tpysxuma 1
53 302.03.00.01.00 Brynka ynnorHuTenbHas 1
54 372.03.00.04.00 nunpens 1
55 372.02.00.05.00 [aTpy60K MbUIEOTBOIHbII 1
56 372.02.00.06.00 Brysnka neuteotBosa 1
57 00.02.04.01.23 Bunr M4x8 2
58 00.30.10.03.00 Kitrou miecTHrpaHHbIit S4, 30x65 1
59 372.02.00.07.00 Jlepatens Koua 1
60 372.02.00.08.00 KosKyX 3aIluTHbIii 1
61 372.02.00.09.00 PoJMK JUTHHHBII 2
62 00.02.99.02.02 Koub110 npy»kuHHOE B8 12
63 372.02.00.10.00 Och 2
64 372.02.00.11.00 1laii6a 8
65 372.02.00.12.00 PoJTHK KOPOTKHit 2
66 372.02.00.13.00 [laii6a ToncTas 022.,2x042 ,2x6 1
67 372.02.00.14.00 Ilait6a ToHKas 022.2x042 2x4 5
68 922050470 Jluck anMasHblii 1o 6eTOHY 0125x022,2x9 2
69 372.02.00.15.00 laiika kperieHus M14x045x9 1

NHTEPCK{ON

Karastor 3armacHBIX YacTEH U3 OAEITHUSI

AelcTBUATEAEH C:

15 ATTPEAS 2015r.

ITuiaa aaxmaszHaas
ABYXJIUCKOBas yrjioBas
(muTpobopes)

I11-125/1400D




